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T o s a4 72 d T
() a(1+ 22771 |2 (14 22)| (1 442y

(b) z(22)* 1

(e) |1+ x2)$]l - (z-1n (1 + x2))}

(d) none of the above
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(a) e¥ + xze¥ + 1

(b) e¥ + zeVy' + o

(c) e¥ + ze¥ + o

[d/dzx][xe¥Y + y] = 77 \

(d) none of the above
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[d/da][xe¥ + ] = e¥ -

_ xeyyl _I_ y/

= e¥ + (ze¥ + 1)/

(@) e¥Y/(xzeY 4+ 1)

(b) —e¥/(xe¥ 4+ 1)

(c)(1—-¢eY)/(ze¥y 4+ 1)

(d) none of the a
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1

(d/dz)(arctanz) =

1+ 2
1 (d/dx)(arctane®) = 77
(b)  (arcsec?e®)(e®)
1
(d) none of the above
) r 0% 0% 0% W
Correct answetr: 1+ (ev)2 45 . "
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g=f1

f(6) =9, f'(6) =1/4
g'(9) =77

(a)1/2

(b) 4

(c) not enough information

(d) none of the above
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